

Hijran G. MIRZAYEVA, Anar M. SADYGOV

EXTREMUM PROBLEMS FOR DELAY DISCRETE INCLUSIONS WITH VARIABLE STRUCTURE

Abstract

In this work necessary extremum conditions are obtained for one discrete systems class. We consider extremum problems for delay discrete inclusions with variable structure. The formulation of this problem is new.

1. Introduction. The survey of problems, considered in this work may be found in [4, p.132]. This work is generalization of some results, obtaining in [5, p.89-94; 6, p.106-112]. The considered problem is reduced to the problem of the mathematical programming using the method given in [1, p. 3-55]. Further, we obtain necessary extremum conditions in the problem for delay discrete inclusions with variable structure using the nonsmooth analysis theory [3, p. 98-100].

2. The formulation of the problem. Let X, Y be Banach spaces, $a_t : X^2 \rightarrow 2^X, t = 0, 1, \dots, k - 1, b_t : Y^2 \rightarrow 2^Y, t = k, k + 1, \dots, m - 1$ the multivalued mappings, where 2^V denotes the set of all subsets of V . We denote $grF = \{(z, v) \in Z \times V : v \in F(z)\}$.

Let us consider the delay discrete inclusions with variable structure

$$\begin{aligned} x_{t+1} &\in a_t(x_{t-\Delta}, x_t), \quad t = 0, 1, \dots, k - 1 \\ x_t &= c(t) \quad \text{at} \quad t = -\Delta, -\Delta + 1, \dots, -1, 0 \\ y_{t+1} &\in b_t(y_{t-h}, y_t), \quad t = k, k + 1, \dots, m - 1 \\ y_t &= G(x_t) \quad \text{at} \quad t = k - h, k - h + 1, \dots, k \\ y_m &\in C, \end{aligned} \tag{2.1}$$

where $c(t) \in X$ at $t = -\Delta, -\Delta + 1, \dots, -1, 0, C \subset Y, G : X \rightarrow Y$ - mapping, k, m, Δ, h - fixed natural numbers. As a trajectory (solution) $(\{x_t\}, \{y_v\})$ of the discrete inclusion (2.1) we understand the process

$$x_t, t = 1, \dots, k - 1, k, y_v, v = k + 1, \dots, m$$

for which (2.1) is satisfied.

Suppose, that

$$\begin{aligned} \Delta &< k - 1, \quad h < \min\{k - 1, m - k - 1\}, \\ g_t : X &\rightarrow R, \quad t = \overline{1, k}, \quad f_t : Y \rightarrow R, \quad t = \overline{k + 1, m}. \end{aligned}$$

We denote $x = (x_1, \dots, x_k), y = (y_{k+1}, \dots, y_m)$

Consider the minimization of the function:

$$F(x, y) = \sum_{t=1}^k g_t(x_t) + \sum_{t=k+1}^m f_t(y_t) \tag{2.2}$$

on the trajectories of (2.1) discrete inclusion. We note that as a trajectory (solution) of (2.1) we take the pairs (x, y) , for which (2.1) is satisfied. Denote by D the set of

[H.G.Mirzayeva,A.M.Sadygov]

solutions of the problem (2.1). We denote $s = m - k$ and define the sets in $X^k \times Y^s$ as

$$\begin{aligned}
 M_0 &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : x_1 \in a_0(c(-\Delta), c(0))\}, \\
 M_1 &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : x_2 \in a_1(c(-\Delta + 1), x_1)\}, \\
 &\dots\dots\dots \\
 M_\Delta &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : x_{\Delta+1} \in a_\Delta(c(0), x_\Delta)\}, \\
 M_{\Delta+1} &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : x_{\Delta+2} \in a_{\Delta+1}(x_1, x_{\Delta+1})\}, \\
 &\dots\dots\dots \\
 M_{k-1} &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : x_k \in a_{k-1}(x_{k-1-\Delta}, x_{k-1})\}, \\
 M_k &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : y_{k+1} \in b_k(G(x_{k-h}), G(x_k))\}, \\
 M_{k+1} &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : \\
 &\quad y_{k+2} \in b_{k+1}(G(x_{k+1-h}), y_{k+1})\}, \\
 &\dots\dots\dots \\
 M_{k+h} &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : \\
 &\quad y_{k+h+1} \in b_{k+h}(G(x_k), y_{k+h})\}, \\
 M_{k+h+1} &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : \\
 &\quad y_{k+h+2} \in b_{k+h+1}(y_{k+1}, y_{k+h+1})\} \\
 &\dots\dots\dots \\
 M_{m-1} &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : y_m \in b_{m-1}(y_{m-1-h}, y_{m-1})\}, \\
 M_m &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : y_m \in C\}
 \end{aligned}$$

Thus, the formulated problem will be reduced to the minimization of the function $F(x, y)$ on the set $D = \bigcap_{i=0}^m M_i$.

3. The solution of the problem. Let Z be a Banach space, E be a non-empty subset of Z . Consider the function $d_E : Z \rightarrow R$, defined as $d_E(z) = \inf\{\|z - \vartheta\| : \vartheta \in E\}$. Consider the generalized directional derivative z of the function φ in the point z_0 :

$$\varphi^0(z_0; z) = \lim_{\substack{\vartheta \rightarrow z_0 \\ \lambda \downarrow 0}} \frac{\varphi(\vartheta + \lambda z) - \varphi(\vartheta)}{\lambda}$$

If φ is a Lipschitz function in the neighbourhood of z_0 , then $z \rightarrow \varphi^0(z_0; z)$ is a sublinear function. The generalized gradient of the function φ in the point z_0 , denoted as $\partial\varphi(z_0)$ is the set of all linear continuous functionals $p \in Z^*$ such that $\varphi^0(z_0; z) \geq \langle p, z \rangle$ for all $z \in Z$.

Suppose $z_0 \in E$. The vector $z \in Z$ is called the tangent to E in z_0 , if $d_E^0(z_0; z) = 0$. The set of all tangents to E in z_0 is denoted as $T_E(z_0)$, i.e. $T_E(z_0) = \{z : d_E^0(z_0; z) = 0\}$. If $z_0 \in \text{int } E$, then $T_E(z_0) = Z$.

Define the normal cone to E at the point z_0 as a double cone to $T_E(z_0)$:

$$N_E(z_0) = \{z^* \in Z^* : \langle z^*, z \rangle \leq 0 \text{ at } z \in T_E(z_0)\}$$

Furthermore denote by $\bar{z} = (\bar{x}, \bar{y}) = (\bar{x}_1, \dots, \bar{x}_k, \bar{y}_{k+1}, \dots, \bar{y}_m)$ an optimal solution of the problem (2.1). From the corollary of theorem 2.4.5 [3, p.57] follow

that

$$\begin{aligned}
 T_{M_0}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : x_1 \in T_{a_0(c(-\Delta), c(0))}(\bar{x}_1)\}, \\
 T_{M_1}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : \\
 &\quad (x_1, x_2) \in T_{gra_1(c(-\Delta+1), \cdot)}(\bar{x}_1, \bar{x}_2)\}, \\
 &\dots\dots\dots \\
 T_{M_\Delta}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : \\
 &\quad (x_\Delta, x_{\Delta+1}) \in T_{gra_\Delta(c(0), \cdot)}(\bar{x}_\Delta, \bar{x}_{\Delta+1})\}, \\
 T_{M_{\Delta+1}}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : (x_1, x_{\Delta+1}, x_{\Delta+2}) \in \\
 &\quad \in T_{gra_{\Delta+1}}(\bar{x}_1, \bar{x}_{\Delta+1}, \bar{x}_{\Delta+2})\}, \\
 &\dots\dots\dots \\
 T_{M_{k-1}}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : (x_{k-1-\Delta}, x_{k-1}, x_k) \in \\
 &\quad \in T_{gra_{k-1}}(\bar{x}_{k-1-\Delta}, \bar{x}_{k-1}, \bar{x}_k)\}, \\
 T_{M_k}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : (x_{k-h}, x_k, y_{k+1}) \in \\
 &\quad \in T_{grb_k(G(\cdot), G(\cdot))}(\bar{x}_{k-h}, \bar{x}_k, \bar{y}_{k+1})\}, \\
 T_{M_{k+1}}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : (x_{k+1-h}, y_{k+1}, y_{k+2}) \in \\
 &\quad \in T_{grb_{k+1}(G(\cdot), \cdot)}(\bar{x}_{k+1-h}, \bar{y}_{k+1}, \bar{y}_{k+2})\}, \\
 &\dots\dots\dots \\
 T_{M_{k+h}}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : (x_k, y_{k+h}, y_{k+h+1}) \in \\
 &\quad \in T_{grb_{k+h}(G(\cdot), \cdot)}(\bar{x}_k, \bar{y}_{k+h}, \bar{y}_{k+h+1})\}, \\
 T_{M_{k+h+1}}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : (y_k, y_{k+h+1}, y_{k+h+2}) \in \\
 &\quad \in T_{grb_{k+h+1}}(\bar{y}_{k+1}, \bar{y}_{k+h+1}, \bar{y}_{k+h+2})\}, \\
 &\dots\dots\dots \\
 T_{M_{m-1}}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : (y_{m-1-h}, y_{m-1}, y_m) \in \\
 &\quad \in T_{grb_{m-1}}(\bar{y}_{m-1-h}, \bar{y}_{m-1}, \bar{y}_m)\}, \\
 T_{M_m}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : y_m \in T_C(\bar{y}_m)\}.
 \end{aligned}$$

Therefore

$$\begin{aligned}
 N_{M_0}(\bar{z}) &= \{(x_1^*, 0, \dots, 0) \in X^{*k} \times Y^{*s} : x_1^* \in N_{a_0(c(-\Delta), c(0))}(\bar{x}_1)\}, \\
 N_{M_1}(\bar{z}) &= \{(x_1^*, x_2^*, 0, \dots, 0) \in X^{*k} \times Y^{*s} : \\
 &\quad (x_1^*, x_2^*) \in N_{gra_1(c(-\Delta+1), \cdot)}(\bar{x}_1, \bar{x}_2)\}, \\
 &\dots\dots\dots \\
 N_{M_\Delta}(\bar{z}) &= \{(0, \dots, 0, x_\Delta^*, x_{\Delta+1}^*, 0, \dots, 0) \in X^{*k} \times Y^{*s} : \\
 &\quad (x_\Delta^*, x_{\Delta+1}^*) \in N_{gra_\Delta(c(0), \cdot)}(\bar{x}_\Delta, \bar{x}_{\Delta+1})\}, \\
 N_{M_{\Delta+1}}(\bar{z}) &= \{(x_1^*, 0, \dots, 0, x_{\Delta+1}^*, x_{\Delta+2}^*, 0, \dots, 0) \in X^{*k} \times Y^{*s} : \\
 &\quad (x_1^*, x_{\Delta+1}^*, x_{\Delta+2}^*) \in N_{gra_{\Delta+1}}(\bar{x}_1, \bar{x}_{\Delta+1}, \bar{x}_{\Delta+2})\}, \\
 &\dots\dots\dots \\
 N_{M_{k-1}}(\bar{z}) &= \{(0, \dots, 0, x_{k-1-\Delta}^*, 0, \dots, 0, x_{k-1}^*, x_k^*, 0, \dots, 0) \in X^{*k} \times Y^{*s} : \\
 &\quad (x_{k-1-\Delta}^*, x_{k-1}^*, x_k^*) \in N_{gra_{k-1}}(\bar{x}_{k-1-\Delta}, \bar{x}_{k-1}, \bar{x}_k)\}, \\
 N_{M_k}(\bar{z}) &= \{(0, \dots, 0, x_{k-h}^*, 0, \dots, 0, x_k^*, y_{k+1}^*, 0, \dots, 0) \in X^{*k} \times Y^{*s} : \\
 &\quad (x_{k-h}^*, x_k^*, y_{k+1}^*) \in N_{grb_k(G(\cdot), G(\cdot))}(\bar{x}_{k-h}, \bar{x}_k, \bar{y}_{k+1})\}, \\
 N_{M_{k+1}}(\bar{z}) &= \{(0, \dots, 0, x_{k+1-h}^*, 0, \dots, 0, y_{k+1}^*, y_{k+2}^*, 0, \dots, 0) \in X^{*k} \times Y^{*s} : \\
 &\quad (x_{k+1-h}^*, y_{k+1}^*, y_{k+2}^*) \in N_{grb_{k+1}(G(\cdot), \cdot)}(\bar{x}_{k+1-h}, \bar{y}_{k+1}, \bar{y}_{k+2})\}, \\
 &\dots\dots\dots
 \end{aligned}$$

$\in N_{\text{grat}(c(-\Delta+t), \cdot)}(\bar{x}_t, \bar{x}_{t+1}), t = \overline{1, \Delta}, (x_t^*(\Delta+t), x_{\Delta+t}^*(\Delta+t), x_{\Delta+t+1}^*(\Delta+t)) \in$
 $\in N_{\text{gra}_{\Delta+t}}(\bar{x}_t, \bar{x}_{\Delta+t}, \bar{x}_{\Delta+t+1}), t = \overline{1, k-1-\Delta}, (x_{k-h}^*(k), x_k^*(k), y_{k+1}^*(k)) \in$
 $\in N_{\text{grb}_k(G(\cdot), G(\cdot))}(\bar{x}_{k-h}, \bar{x}_k, \bar{y}_{k+1}), (x_{k+t-h}^*(k+t), y_{k+t}^*(k+t), y_{k+t+1}^*(k+t)) \in$
 $\in N_{\text{grb}_{k+t}(G(\cdot), \cdot)}(\bar{x}_{k+t-h}, \bar{y}_{k+t}, \bar{y}_{k+t+1}), t = \overline{1, h}, (y_{k+t}^*(k+h+t), y_{k+h+t}^*(k+h+t),$
 $y_{k+h+t+1}^*(k+h+t)) \in N_{\text{grb}_{k+h+t}}(\bar{y}_{k+t}, \bar{y}_{k+h+t}, \bar{y}_{k+h+t+1}), t = \overline{1, m-1-k-h},$
 $y_m^*(m) \in N_C(\bar{y}_m)$ such that in the case $h = \Delta$ the relations are fulfilled: $x_{t,0}^* +$
 $x_t^*(t-1) + x_t^*(t) + x_t^*(\Delta+t) = 0$ at $t = \overline{1, k}$; $x_{t,0}^* + y_t^*(t-1) + y_t^*(t) + y_t^*(t+\Delta) = 0$
at $t = \overline{k+1, m-h-1}$; $x_{t,0}^* + y_t^*(t-1) + y_t^*(t) = 0$ at $t = \overline{m-h, m}$; in the case
 $h < \Delta$ the relations are fulfilled: $x_{t,0}^* + x_t^*(t-1) + x_t^*(t) + x_t^*(\Delta+t) = 0$ at $t =$
 $\overline{1, k-1-\Delta}$; $x_{t,0}^* + x_t^*(t-1) + x_t^*(t) = 0$ at $t = \overline{k-\Delta, k-h-1}$; $x_{t,0}^* + x_t^*(t-1) +$
 $+ x_t^*(t) + x_t^*(t+h) = 0$ at $t = \overline{k-h, k}$; $x_{t,0}^* + y_t^*(t-1) + y_t^*(t) + x_t^*(t+h) = 0$ at
 $t = \overline{k+1, m-1-h}$; $x_{t,0}^* + y_t^*(t-1) + y_t^*(t) = 0$ at $t = \overline{m-h, m}$ in the
case $h > \Delta$ the relations are fulfilled: $x_{t,0}^* + x_t^*(t-1) + x_t^*(t) + x_t^*(\Delta+t) = 0$
at $t = \overline{1, k-h-1}$; $x_{t,0}^* + x_t^*(t-1) + x_t^*(t) + x_t^*(t+\Delta) + x_t^*(t+h) = 0$ at $t =$
 $\overline{k-h, k-1-\Delta}$; $x_{t,0}^* + x_t^*(t-1) + x_t^*(t) + x_t^*(t+h) = 0$ at $t = \overline{k-\Delta, k}$; $x_{t,0}^* +$
 $y_t^*(t-1) + y_t^*(t) + y_t^*(t+h) = 0$ at $t = \overline{k+1, m-1-h}$; $x_{t,0}^* + y_t^*(t-1) + y_t^*(t) = 0$
at $t = \overline{m-h, m}$.

Let Z be a Banach space, $E \subset Z$, $\bar{z} \in E$. We denote the set of all hypertangent vectors to E at the point \bar{z} by $I_E(\bar{z})$.

Theorem 2. Let $\bar{z} = (\bar{x}_1, \dots, \bar{x}_k, \bar{y}_{k+1}, \dots, \bar{y}_m)$ be an optimal trajectory, $I_{\text{grat}(c(-\Delta+t), \cdot)}(\bar{x}_t, \bar{x}_{t+1})$ at $t = \overline{1, \Delta}$, $I_{\text{grat}}(\bar{x}_{t-\Delta}, \bar{x}_t, \bar{x}_{t+1})$ at $t = \overline{\Delta+1, k-1}$, $I_{\text{grb}_k(G(\cdot), G(\cdot))}(\bar{x}_{k-h}, \bar{x}_k, \bar{y}_{k+1})$, $I_{\text{grb}_t(G(\cdot), \cdot)}(\bar{x}_{t-h}, \bar{y}_t, \bar{y}_{t+1})$ at $t = \overline{k+1, k+h}$, $I_{\text{grb}_t}(\bar{y}_{t-h}, \bar{y}_t, \bar{y}_{t+1})$ at $t = \overline{k+h+1, m-1}$ and $I_C(\bar{y}_m)$ be a non-empty, the function $g_t(\cdot)$, $t = \overline{1, k}$, satisfies to Lipschitz condition in the neighbourhood of \bar{x}_t , the function $f_t(\cdot)$, $t = \overline{k+1, m}$ satisfies to Lipschitz condition in the neighbourhood of \bar{y}_t . Then there exist $x_{t,0}^* \in \partial g_t(\bar{x}_t)$ at $t = \overline{1, k}$, $x_{t,0}^* \in \partial f_t(\bar{y}_t)$ at $t = \overline{k+1, m}$, $x_1^*(0) \in N_{a_0(c(-\Delta), c(0))}(\bar{x}_1)$, $(x_t^*(t), x_{t+1}^*(t)) \in N_{\text{grat}(c(-\Delta+t), \cdot)}(\bar{x}_t, \bar{x}_{t+1})$ at $t = \overline{1, \Delta}$, $(x_t^*(\Delta+t), x_{\Delta+t}^*(\Delta+t), x_{\Delta+t+1}^*(\Delta+t)) \in N_{\text{gra}_{\Delta+t}}(\bar{x}_t, \bar{x}_{\Delta+t}, \bar{x}_{\Delta+t+1})$ at $t = \overline{1, k-1-\Delta}$, $(x_{k-h}^*(k), x_k^*(k), y_{k+1}^*(k)) \in N_{\text{grb}_k(G(\cdot), G(\cdot))}(\bar{x}_{k-h}, \bar{x}_k, \bar{y}_{k+1})$, $(x_{k+t-h}^*(k+t), y_{k+t}^*(k+t), y_{k+t+1}^*(k+t)) \in N_{\text{grb}_{k+t}(G(\cdot), \cdot)}(\bar{x}_{k+t-h}, \bar{y}_{k+t}, \bar{y}_{k+t+1})$ at $t = \overline{1, h}$, $(y_{k+t}^*(k+h+t), y_{k+h+t}^*(k+h+t), y_{k+h+t+1}^*(k+h+t)) \in N_{\text{grb}_{k+h+t}}(\bar{y}_{k+t}, \bar{y}_{k+h+t}, \bar{y}_{k+h+t+1})$ at $t = \overline{1, m-1-k-h}$, $y_m^*(m) \in N_C(\bar{y}_m)$ and the number λ equals zero or -1 , such that not all are equal to zero simultaneously and in the case $h = \Delta$ the relations are fulfilled: $x_t^*(t-1) + x_t^*(t) + x_t^*(\Delta+t) \in \lambda \partial g_t(\bar{x}_t)$ at $t = \overline{1, k}$; $y_t^*(t-1) + y_t^*(t) + y_t^*(\Delta+t) \in \lambda \partial f_t(\bar{y}_t)$ at $t = \overline{k+1, m-h-1}$, $y_t^*(t-1) + y_t^*(t) \in \lambda \partial f_t(\bar{y}_t)$ at $t = \overline{m-h, m}$; in the case $h < \Delta$ the relations are fulfilled: $x_t^*(t-1) + x_t^*(t) + x_t^*(\Delta+t) \in \lambda \partial g_t(\bar{x}_t)$, $t = \overline{1, k-1-\Delta}$; $x_t^*(t-1) + x_t^*(t) \in \lambda \partial g_t(\bar{x}_t)$ at $t = \overline{k-\Delta, k-h-1}$, $x_t^*(t-1) + x_t^*(t) + x_t^*(t+h) \in \lambda \partial g_t(\bar{x}_t)$ at $t = \overline{k-h, k}$, $y_t^*(t-1) + y_t^*(t) + y_t^*(t+h) \in \lambda \partial f_t(\bar{y}_t)$ at $t = \overline{k+1, m-1-h}$, $y_t^*(t-1) + y_t^*(t) \in \lambda \partial f_t(\bar{y}_t)$ at $t = \overline{m-h, m}$; in the case $h > \Delta$ the relations are fulfilled: $x_t^*(t-1) + x_t^*(t) + x_t^*(\Delta+t) \in \lambda \partial g_t(\bar{x}_t)$ at $t = \overline{1, k-h-1}$; $x_t^*(t-1) + x_t^*(t) + x_t^*(t+\Delta) + x_t^*(t+h) \in \lambda \partial g_t(\bar{x}_t)$ at $t = \overline{k-h, k-1-\Delta}$, $x_t^*(t-1) + x_t^*(t) + x_t^*(t+h) \in \lambda \partial g_t(\bar{x}_t)$ at $t = \overline{k-\Delta, k}$, $y_t^*(t-1) + y_t^*(t) + y_t^*(t+h) \in \lambda \partial f_t(\bar{y}_t)$ at $t = \overline{k+1, m-1-h}$, $y_t^*(t-1) + y_t^*(t) \in \lambda \partial f_t(\bar{y}_t)$ at $t = \overline{m-h, m}$.

Proof. It is straightforward to check, that

$$\begin{aligned}
 I_{M_t}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : (x_t, x_{t+1}) \in \\
 &\quad \in I_{\text{grat}(c(-\Delta+t), \cdot)}(\bar{x}_t, \bar{x}_{t+1})\} \text{ at } t = \overline{1, \Delta}; \\
 I_{M_t}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : (x_{t-\Delta}, x_t, x_{t+1}) \in \\
 &\quad \in I_{\text{grat}}(\bar{x}_{t-\Delta}, \bar{x}_t, \bar{x}_{t+1})\} \text{ at } t = \overline{\Delta + 1, k - 1}; \\
 I_{M_k}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : \\
 &\quad (x_{k-h}, x_k, y_{k+1}) \in I_{\text{grbk}(G(\cdot), G(\cdot))}(\bar{x}_{k-h}, \bar{x}_k, \bar{y}_{k+1})\}, \\
 I_{M_t}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : \\
 &\quad (x_{t-h}, y_t, y_{t+1}) \in I_{\text{grbi}(G(\cdot), \cdot)}(\bar{x}_{t-h}, \bar{y}_t, \bar{y}_{t+1})\} \\
 &\quad \text{at } t = \overline{k + 1, k + h}; \\
 I_{M_t}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : \\
 &\quad (y_{t-h}, y_t, y_{t+1}) \in I_{\text{grbk+h+1}}(\bar{y}_{t-h}, \bar{y}_t, \bar{y}_{t+1})\}, \\
 &\quad \text{at } t = \overline{k + h + 1, m - 1}; \\
 I_{M_m}(\bar{z}) &= \{(x_1, \dots, x_k, y_{k+1}, \dots, y_m) \in X^k \times Y^s : y_m \in I_C(\bar{y}_m)\}.
 \end{aligned}$$

If $T_{M_0}(\bar{z}) \cap \left(\bigcap_{i=1}^m I_{M_i}(\bar{z}) \right) = \emptyset$, then according to lemma 5.11 [2, p.37] we can find the linear functionals $\omega_i^* \in N_{M_i}(\bar{z})$, $i = 0, 1, \dots, m$, not all of which are equal to zero, such that $\omega_0^* + \omega_1^* + \dots + \omega_m^* = 0$. Then we obtain that at $\lambda = 0$ the statement of theorem 2 be satisfied.

Let $T_{M_0}(\bar{z}) \cap \left(\bigcap_{i=1}^m I_{M_i}(\bar{z}) \right) \neq \emptyset$. Then the conditions of corollary 2 be satisfied.

Then from theorem 1 follow, that at $\lambda = 1$ the statement of theorem 2 be satisfied. The theorem is proved.

References

- [1]. Boltyanskiy V.G. *The method of shatrov (tents method) in the theory of the extremum problems*. Uspekhi Mathem. Nauk, volume 30, No 3, 1975, p.3-55
- [2]. Girsanov I.V. *Lecture of mathematical theory of extremal problems*, MGU, 1970, 118 p.
- [3]. Clark F. *Optimization and Nonsmooth Analysis*, M.: Nauka, 1988, 280 p.
- [4]. Minchenko L.I., Borisenko O.F. *Differential properties of marginal functions and their applications to optimization problems*, Minsk, Navuka I Tekhnika, 1992, 142 p.
- [5]. Mirzayeva H.G., Sadygov M.A. *Optimal control of discrete difference inclusions* // Transactions NAS Azerbaijan, volume XXV, No 7, 2005, p.89-94
- [6]. Mirzayeva H.G., Sadygov M.A. *The optimal control of the discrete inclusions with delay* // An International Journal "Applied and Computational Mathematics", Baku, v.5, No1, 2006, p.106-112

Hijran G. Mirzayeva, Anar M. Sadygov

Institute of Applied Mathematics of Baku State University

23, Z. Khalilov str., AZ1148, Baku, Azerbaijan

Tel.: (99412) 439 15 95 (off.)

Received February 12, 2007; Revised April 26, 2007.